e the in

To pinpoint the error is to find out or identify or indicat correct part in the sentence]

5 qr Pinpoint the error 2% &Mg QICHIT W W4T (AP incorrect S dret (@7 FA1 A NS = |
1. The only error in the sentence "One of the recommendation made ?y the
committee was accepted by the authorities" is- [3_3 BCS, S q1ez-ye)
a) recommendation b) was ¢) accepted by d) committee Ans:a
recommendation 9 ¥ recommenMun T |
2. According to experts a good way to improve listening skills s gcx _vla_DLgll_ television,
A B
nd ” L a
specially news and documentaries. (32 BCS, RU (E-c@9) 14 15]Ans:C
finitive (to + base form) 2 | :l

by @3 AfR=TS to FA | Parallelism SFAICH is 99 T28 in
3 A doctor may be able to diagnose a problem perfect, but he may not be able to find
A B
d BCS, RU (E, @) 14-15, (A) 22-23] Ans:B

a drug to which the patient will respond. [32°
C D

=@ | verb & modify 99 transitive verb+

object 9 X adverb 31

perfect 99 ¥ perfectly
4. Every man and woman should vote for the candidate of their choice.
A B C D
[32" BCS, CU (E) 11-12, RU (&, o) 13-14]  Ans:D
onoun f& his/her T3

meir 7 30 his < | and T & «3ifg® singular noun 4 i every UL pr
3 ST (UG S 2D PTG Sfehq 2059

5. Idon’t know where could he have gone so early in the morning. No error

A B C D Ans:A

he could 2@ | ¥, Embedded question: sub + verb + - + Wh word + sub + verb
6. She is looking forward to go to Europe next month. No error [CU B, 15-16]
A B C D Ans:C

g0 @7 T going XA | w1, look forward to &% 7ta verb +ing 0T |
T Cecae for g (CGDE) A SIS B3 2058
7. It was uncoming of the players to be disrespect towards the other teams’s national
A B C D

Ans:B

anthem. No error

E
8dlsresp<?ct @7 7 disrespectful 20 | ¥, to be @F #Td adjective WM noun phrase @
. Neither of the worker was ready to work overtime causing the deadline

A
. B C
to be missed. N
n 0 (I:zrror Ans:A
ker & '
9wor ;r 99 7 workers 203 | #19, Neither of + plural noun + singular verb Sl
A 0 stxmer had he reacéled the station than the train had left. No error bai Lo
had left @31 3t lef] 'C s - e
T left 209 | 319, No sooner + subject + past participle --- than + past m
MASTER —)
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jo. Parkingthe car at ghe

arki
No error p\l;]m’ Ms Jones decided to take the bus to town.
¢ D
E .
a#fee g9 @3] Ans:E
11. Kaim together with Many of pj ! W
A $ friends and relatives were present in the meeting

along w;j

\ inc? wflh’ together with, as well as, accompanied with/by,

] » Mcluding, excluding, but, except wrt 7% «#1fd® noun/pronoun
TR verb = | Kaim =% singular ©13 was (singular verb) 7 |

’ NSI| «g Gfea e
12. Women are the pillars of Society
A b

with, 1 s and no
43 (% T noun/pronoy

barticular of the societies with which we are
B

D
concerned here, Mﬂﬂ C

E
i Ans:B
rticular @3
I:a People \fhﬁopljmcmar}y I, of the socicties Tt modify #3t% adverb a1 |
= o ¢p their €ye at the ball, can maintain good concentration at work.
A B o B
No Error

E

[it the ball 93 = on the bal| z7, <1, keep one’s eye on the ball- #ft& Tt o7 | Ans:C
14. The ﬂ;tﬁ movements was restrained fluid and seemingly effortless to the

B ¢ D
viewer. No Error
E

was 9% FF were I | FEE, movements R plural ©i2 plural verb AR |
15.

Ans:B

In the agrarian industry, the farmers nurture this land because it is the source of
A B C D
their incomes. No Error

E [In the @I T 3¢ In TI| Ans:A
16. Females are viewed as inferior to males in nations ruled by patriarchy. No Error

A s L D E Ans:E
NST s =z AlDIEE 2956
17. There is no mother but loves her child. No Error
AB C D E s
18. Ineed to buy some equipment, No Error
A B C D E Al

EWWﬁWﬂWWNOEHOH |
19. I would rather die than bribe. No Error
A B ¢ D E Ans:
[ﬂibem'ﬂﬁﬁmmmkebﬁbesm‘ﬁml (ee1E @i & Tea e 1)
20. The picture has hung on the wall. No Error
A B C D B Ans:B
lﬂas 7 70 was 204 | F1a, picture 262 action receiver ©12 AT passive T | j

MASTER 681


https://v3.camscanner.com/user/download

|

[ \
21. I prefer tea than coffee in the morning. No Error
A B C D E Ans:p

than @3 ¥ to T | T, prefer (sth) to (sth); 1 prefer reading to writing.
22. A large number of automobile part are now made of plastic jg__s_t_e;_d_ of steel. A
A B C ns:B
[RU (D) 17-18, GTA 01e 1, SfPTa (w501 ().
part @3 ¥ parts &I | $94, a number of (= many/some) @9 7 plural noun 9 plural ver},
ICT 1 A number of (= some) problems have arisen. A number of students are absent today,

23.  The pineapple, a fruit grow in tropical climates throu hout the world, % native to
-
A B

p;rts of South America. [RU (D) 17-18, Gt ajies far. il () {AfETarET} 3] Ans:B

grow @3 T grows XA | FA, singular subject @7 td singular verb 0T |
24. Canals are artificial waterways, often constructed either to transport heavy loads

A B
or to delivering water to cities and farms. [cT=t e . s (@) (AfEwran)-s5]  Ans:C
C D

delivering @3 ¥t deliver T | ¥, either — or T (F@ or ¥F =< 8 AT verb 99 9F2 form 7

25. Although a Kangaroo normally uses its large feet and strong legs for hopping, but
A B C D

it can also swim. [Tt e for. s () {fewarat}-ss]  Ans:D
i but & Iw e =2 | F799, Although @14 sub-ordinate clause 3% 2teT main clause @ but 7 71 |

=T =N Sy @E (BWDB)-Gs (S51 4G it So59

26. 1 was so angry that I took the watch broken to the jewelers to get my money back.
A B (& D E Ans:C
\I broken watch T | @9, determiner + adjective + noun |

27. How long does it take to get the station on foot from your house? No error
A B C D E Ans:B

to the station 2= | F&9, get @A (FAT FIA CAIRIT T FHGT ST to BT | We got to Dhaka
at 7 o’clock. w2 home @ @1est to 767 1 | What time did you get home last night? (get to =)

|
|
28. Financial problems beset many of the early museums in the US, causing its closure.
A B C D
No error
. E - Ans:D
Its @2 27 their 24 | F1a<, museums ( plural) @ closure f¥t7+ 1 ztate ©I? their 261 |

29. Manufacturers of consumer £oods often change the styles of them products. No error

A B C D E
them 9% e their o7 | w1, products noun f& adjective 91 @12 their 2¢q | Ans:D_J
30. T used to be keen of all scientific subjects but now I would prefer to study art
A B C D .
E
| keen of w7 %9t keen on 24 | w19, keen on (sth/doing sth) = WA, T, W | Ans:B ,
MASTER 682 )
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TR

_ |
. NPT oy RBINBf. 7 et aragors (&) 205
In each sentence, identify ()¢ |

31. Yesterday Part that contains error. If there is no error, select (d)
Was functioning rather strangely. No error

:d

T MOF | I T yestorde 2 _b c d Ans
Her novel | Y U past continous tense @7 A& (5 S1E |

32. vel is an American classic

about a young girl who she called Billie Joe. No error

Es:b ; whoW b c d

TR, B2 clg frg
noun + whom + Noun/pronoyp %92 clause faf¥8 41cey noun/pronoun + who + verb

33. Haven’t none of
s B You seen my dog? No error

l—&me Ry ee——e d Ans:b
34. I prefer to}’:ﬁ' | T, <3 clause 9 T double negative TS T |
. a
: bVe MY lunch first rather than doing anything else. No error

my compytep

& b c d Ans:d
r 3 wense + after + past perfect tense

36. Each fux:iture on display in the central mail is on sale for thirty percent off the
B C
regular price, [ree affrt for, (TO)- v, TS a1 1. (PO)-dv)
p Ans:A
Each ﬁn:mture 95 ¥ Each piece of furniture 2@ | F19, Each U9 #[ta singular countable noun
wId furniture B uncount noun 1% fumiture @3 *tf piece of TITA T countable T4 ZH |

Identify the incorrect part of the following sentences. [&et Fiew . (SO, IT)-dv)
37. Itis often difficulty for an individual to adjust to new environment.
A B C D Ans:B

difficulty @ ¥ difficult 2t | F1, It is + adverb (often/very) + adjective |
38. It must have been her at the door.

A B C D Ans:C

her @3 T she T | 199, be verb &% “td subjective form (I, he, she, they) 37|

39. No sooner had he arrived than rain started. None of these

A B C D (I #fé<) Ans:D
40. Not only he cheated in the exam but also he argued at the teacher.
A B C D Ans:D

at @3 T with Zd | $19¢, argue with (sb/a person) — 1T AN S 40|

41. Cholera is a very common disease, which usually effects children.
. A B C D Ans:D

| lative clause 4 finite verb %<& |
effects @7 3T affects I | I, ICH re
effect (=T, «faf, &) R noun affect (/o1 341, efo1q (T “Ffoww F41) 2R verb
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W the take-home

“2o1d the students
42.  The scholarly professor ;%m | o
[CUD 18.19
examination_with each other. Ang: [;

43 Afrer g;g; gg all the nccc«nnr mnterinl% ;, the students Were f_r_l_Llrm their

A [CU D 13-
-19
test scores by twenty-five points. Ang: ("]

D p
PR t {noun (phrase)/prono
fsing @3 ¥ raising ¥ | | T, raise Rzl ,c?r.-n W)*Objcc { ( )pm

44, Excepting for the post-graduate students, vegy_Bone will have to § __C& I the tests
A
CUD 18-

on_the same day. [ 1;18 19]
D ns:A
| Except for T2 | #17, a71® wed preposition ferta Except for %3 24 | :!
45, Flight is a very dlmculg activity for for most | vmg things. [JnU (C) X’-“g

A : ns:

e + noun IS noun

 difficulty @® ¥T7 dnﬁ'cult A | IR, amclc + adverb + adjectiv
» ‘activity’ (& qualify/ modlfymadjccuvcﬁ?mﬁ|@3dlfﬁcultml
46. As soon as they were seated, the man began to whisper among themselves.
A B c D
(comrvgren o Wat o faretia wog e e ) [JnU (C) 17-18] Ans:C
(mdn @7 2" men TR 9, AW they @ themselves ¥ plural pronoun ¥R «Um
" antecedent (pronoun TZ A %) noun & plural 3 |

47. The area where a microchip is manufactured must be the most cleanest
A B C D

environment possible. [JnU (C) 17-18] Ans:C
' cleanest T clean @7 superlative form w1z cleanest @F I most €T JIIT TS |
- wae, @we wkeee a@w double superlative 3 comparative double @w Iz fawsfrg 7w

4¢. There is hardly any reason for you to feel badly and blame yourself for this mishap.
A B C D
- [RU (J) 17-18] Ans:B
badly.s, @ ¥07 bad,y ¥ @199, linking verb @a “ita adjective 9071 linking verb &l TR
10 be, become, look, feel, smell, taste, seem, remain, appear, run, go, grow, read, turn To7W
49.  As soon as the sun had risen over the mountains, it became unbearable hot in the
A BB
C D

unbearably,q, €4 | #19¢, become €& linking verb Wi linking verb @ *ts @G adjective I

lain |
plain and [RU (J) 17-18] Ans:C

fog linking verb a4 4 u¢rfl1¢ adjective 4iece ﬂwﬁw adverb #4909 29 |

50. He has received my letter the gy before 1esterdax [RU (J) 17-18]
A B & D .
Ans:A

| 0% has SRS | #1984, yesterday =18 wtowi fore OiE 160 past indefinite tense @
MASTER %84
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51. ‘Dei\ ite Karim’s threats of

%& none of his sons were willing to help him
C D

to mow the lawp,

punishments e ] Punishmepy I [RU (D, atfer) 17-18] Ans:B
5. The younger yoy are, the 3 a8 3y punishment @7 #7421 uncountable noun fZTCa

n
A “m\];emiﬂ.!ﬂs to learn, [RU (D, aifirer) 17-18]
casicr AR casy O comparatiy ’ C D Ans:B

!, R AR R Qcmfon,n 12 easier @7 48 more @4 A2 SAEAT |
53, lwas diﬁmw m - double comparative f#5at double superlative w7 = |
A

at dj
did so bad in the examination. [RU (D-wrarfter) 17-18]
badag 9F T badly,q, TR | wrm 2 C D Ans:D
i never thougt : — action verb @3 #ia adverb/adverbs 7% |
- A W she s such o selfish person. [RU (D-wwafrem) 17-18]
2 C D Ans:B

is €T T\ Was T | I, maj
> Main clause & past tense 2wt sub-ordinate clause 9 past tense 7 |
55. The share market is

Aw—mm today than it was
B

a couple of days back. ’ P [CU (C) 17-18] Ans:B
L :

I comparatively Wmﬂ | F19, comparative degree + than @3 4td comparatively 92
| T | O comparatively @3 At positive degree T | comparatively well/cheap

56. Iam your well-wisher whether you agree with me or not, don’t I. [CU (C) 17-18]
A B C D E
don’t I @ (T aren’t [ 363 | ¥, I am 9 %@ tag question & aren’t [ = : Ans:E

57. The professor went fishing after he has finished reading an absorbing novel.
A B C D E

[CU (C) 17-18] Ans:B
he has @7 Z7a he had 203 | ¥, past indefinite tense + after + past perfect tense

58. My mother asked me where had I gone anl;i what 1 hadCbeen doing M](;_ng
a period of time. * | [CU (C) 17-18] Ans:A
where | had};one 274 | ¥, subject + verb + -+ wh word + subject +verb
59. It is essential that the temperature jg_%o_t raised to a pgint where the substance
formed may become unstable and dec?mgosed into its constituent elements. Ans:A

C D E [JnU (C) 14-15, CU (C) 17-18]

@‘Ot a9 Bt not be T4 | subjunctive adjective +subject + not + be/base form +

ficials were hesitant to allow the residents
60. Though the danger had ﬂas:cd, offic i

C [CU (D) 17-18] Ans:D

by the hiqum damage 9tz ©12 clause & passive 23 | \

129, high wi

caused @7 3= was caused T
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61. Th = e . . i T
e Principal was considering to postponing the examination until the following
5 !

A B
moiith because of the students’ demonstrations. (cu B1) 16-17.CU(©) 17-1g)
D Ans:B

. to postponing €% ¥T7 %Y postponing 2T | F1F, consider 49 gerund (verb+ing) AW
e force. If we don’t,

‘} 4 . -
62. We must maintain a system of law, and support a polic
A B C
the criminals would soon be in charge. [CER 1010
| D E , Ans:D
base form+extension T

- would <7 77 3¢ will 91 =1, If +present indefinite, sub+will+

63. Things will be better if I will get a job and earn some mo
A B C

(CU (C3) 16-17] Ans:B

with my parents. ‘
| will get <9 77 5 get T | =19, Sub+will+base form*-— if +subtP resgnt form+J Lol
64. I suggest that he goes abroad soon. SRR [CU (DI&DZX:SI;I:] p

ney, so I don’t have to live
D E ‘

65. I strongly suggest that Junaid goes to the doctor immefﬁﬁfélY- [CU(Blj 611 “
rgoes &7 77 go T4 | FE, suggest (subjunctive verb) + that +subject +verb “ﬁbﬁse_fg_r_mf;;_ T
| 66. When I was sick with the flu, my mother made me fo eat chi@:kén"Sth and.ro

A B i3
3)16-17] S

[CU BY) 16-17. CU (€3 1617)

? rest in bed. e

o eat <% 707 eat=d | =@, Make (causative) + action doer + verb €3
x67_ Most tale is used in ceramics and roofing because it r#Siét;-ﬁ;é good;f;"i U (B2s)

good (@ dj.) <7 7 well (adverb) T3 | ¥, verb (resist) & modlﬁ/WW

63, The period during when people learned to melt ii'px:lfis}icﬁlledff e
A B A

hich 2z | @1z, A e during which 923t ¢ when'

base form =

(when &% 77T W

60. Marine biology, the study of plant and animals and thei
A B 1t

has furthered the efficient development of fisher&les;
, C D st
plant 4% %74 plants 204 | 149, qAE] TR At Tfewcs ﬂmmisfb: plura
70, Itis extreme important for an engineer to knowgiéﬁ'?

A B C

71. A well-planned resume i e
m ume is the first step toward'ﬁf' B
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s,
.

72. Adult education progra——

. Adult education
A Programs Must be designed so the diverse needs of the |
' . B C D '
participants in mind
‘ : ‘ CU (B,s) 16-17] Ans:C
QI ‘T A Lﬁf\’im‘l SO 9% gy for 77| 0
73. Earlier or later, g) : i
. » All lakes are influnced by eutrophication, a process in which lake

. B
sediment lower
S the depth of e Water and drains oxygen from it.  [CU (Bys) 16-17]

Earlier @ -ﬂw D Sd
TR, 7o feafen (A sooner or later o o ‘o (g ot w13

R, W& TACST e, RALGA R A ot i T

74. The ad : :
ed typing and editing are now being extending to all

. A B C
the written Ianguages of the worlqd

vantages of Computeriz

D [CU (Bys) 16-17]
ttending 93 T extendoioe—— Ans:C
E\ = £ 9 T extended I | FR, being @37 *ta verb @7 past participle form 1 |
7 o (:the United Nations, broad speaking, is to maintain peace and
. B C
security and %ﬂm&ct for human rights. [CU (D1 & D2) 16-17]
D

Ans:B

broad €3 ¥ broadly z7 | I, “participle’ 2z adjective ©% @7 =t adverb 367 |

76.  New York City has been the capital of New York State until 1797, when the state
A B C D
capital was moved to Albany. [CU (C1) 16-17]
E Ans:A
has been 93 3T had been 2= | w1, wore g T =R AP’ @RS past perfect tense <T |
71. The price of crude oil used to be a great deal lower than now, wasn’t it?[CU C1 16-17]

A B 0 D E Ans:E
wasn’t it 99 30 didn’t it 31 | I, 8¢ used to 99 tag question @ didn't/ usedn't 967 |

78. Before she moved here, Sarah had been president of the organization since four
A B c D E
years. [CU (C1) 16-17] Ans:E
since 9% L for 4 | 1, four years 20 period of time ©1% @7 =¥ for =1 |
79. Jerboas are long-eared rodents that they look like tiny kangaroos.  [cU(C)) 16-17)
A B C D E Ans:B
that they @7 3t that = | @, rodents € & RGIA relative pronoun ‘that” wrze xR
OIZ they @& ayaga TGN | 9167 Antecedent + relative pronoun (who/which/that) + verb
80. Itis estimated that each person in the United States consumes one hundred pounds

A B C
in sugar annually. [CU (C1) 16-17)
D E Ans:D
@r a7 70 of sugar 2@ | e, T g AR QRIS unit of something e =7 |
68
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A B
bu too inferesting: 1 Ay 10-11, BUET 12-13, 30U (8) 12:13, RU (B-0T%) 15-16) Angyy
D [ ~but also Z0% corelative B2 GIATY A5 77

but too €% T but also TI | T, not only - _
. the mayor gave a long speech
isi - norate the holiday, gave a long speech,
82. After rising the flag g_)__c_o_lp_ll,;_lg_'__——— C D =
A [CU (BI) 12-13, RU (E-GT9) 15-16] Ans: o
rieing @7 7 raising T | 9w, raise-FR Soarers A A W‘ rise-FTE BT 1 3 ey
e ‘ qi CitE) 3 raise + object (noun/pronoun)

T ., . d(
rise + preposmon/adverb/uo wor :

§3. That shirt which he bought is blue in colour. [RU (E_W)A];.m]

> S:A

A B C .
cle +Antecedent +Adjective clause |

That @3 371 The I 1 99, arti
84. Visitors were not permitted entering the park after dark because of lack of
' B C D
A

security and lighting. [BUET-12-13, JnU (B) 12-13, RU (E-Rrg) 15-16] Ans:B
entering €3 ¥ to enter A =, allow, permit +object +infinitive (to +base form)
85. Although Fahim has been playing cricket for many years, he still does not know to
A B C D
play cover drive.

86. Although Rahim has been cooking for many years, he still does not know to
A B C

prepare foods in the traditional manner.
D [RU (E-Reee) 15-16] Ans:C

know to @7 0T know how to d | 3, know how + to +base form;

87. Body temperature is usually highest inside the afternoon or evening. [CU (C)) 15-16]
A B C D Ans:C

inside @7 707 in 20 | ¥4, A @e¥T, morning, afternoon, evening A t¥ in T |
88. The advantages of computerized typing and editing are now being extending to all

[KU (S) 16-17] Ans:D

A B C
the written languages of the world. [CU (C)) 15-16]
D -Ans:C
extending @7 7w extended T | A9, being W #Ita verb @7 past participle IG7 | _j
89. Ordinary a tornado breaks up suddenly and dissipates less than four hours after it
A B C D
has formed. [CU (B-1) 10-11, (C1) 15-16]
E Ans:A
Ordinary (adj) @z =@ Ordinarily (adv) 4 | A50F modify T90S ATITT SFCOR adve@
90. One of the crucial problem of the day is population explosion. [CU (Cy) 15-16]
A B C D Ans:B
problem 97 %= problems | @149, one of the + plural noun
MASTER 688
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" A % En the rurq] areas js composed of unskilled labourers. e
Many 93T Much zzz | Pl D B [CU (Cy) 15-16] Ans:

D0 :
Oberlin college o POpulation® uncountable noun 8 ‘people’ countable noun

2. wards deos o gt
9 NA\S degrees to o, sexes as early as 1837, but coeducation in
American colleges diq . B
C "ot spread until the second half of the century. [CU (Cy) 15-16]
=8 WOreHE D E Ans:A
ol (309 ey e

Past tense 23, @reFy awards @7 307 awarded 27 |

lay in bed for several days as a precaution
inal cord. [CU (Cy) 15-16]

03. The physician suggesteq that he

against further damage ¢ the sp
D

| Ans:A
) @ lie X | ey, _
lay Tlf‘:feamer — t,hsuggest that + subject +base form ; lay (base form) ‘+noun/pronoun
" A smd%"s to do their assignments in time. [CU (C)) 15-16]
q IR = D Ans:C
to do T A (;0 R I, have (causative verb) +action doer + base form
5. T zpro uct that you ln;}l;gh_t at the lower price is the more inferior to the one
. C D
that we sell at a slightly higher price. [CU (C)) 15-16]
E

Ans:C

Lthi more inferior €3 ¥ inferior 2 | PR, 9L double comparative 47 FIEF ZH A |
%. Neither of the scout leaders know to trap wild animals or how to prepare them

A B C
for mounting. [CU (B-1) 15-16]
D Ans:B

 know 9% 20T knows 203 | 19, either/neither/each (one) + of +plural noun +singular verb
97. After driving for twenty miles, he suddenly realized that has been driving in the
A B C D
wrong direction. [PUST (A) 13-14, CU (B-1) 15-16]Ans:C
has been €% 277 had been 2@ | 9, past tense +that + past tense
98. The new technique calls for heating the mixture before apply it to the wood.
A B C D Ans:C
‘ apply @2 271 applying 2@ | @@, preposition @3 #td gerund (v+ing) I67 | [CU (B-1) 15-16]
99. The Lion has long been a symbol of strength, power and it is very cruel.

A B C D
[RU (wigurer) 08-09, CU (B-1) 13-14, 15-16] Ans:D

| itis very cruel @7 %0 cruelty 264 | S, Parallelism SPICE noun X 3K ST noun A |
the girl was capable to rise her score by thirty-five

100. After studying the new books,

A B C D
points [CU (B-1) 15-16] Ans:D
l rise @3 ?Cﬂ.raise =74 | Fad, rise (A9N) + preposition/adverb ; raise (SISTE) + noun/pronoun
MASTER 689
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101. They are planning on attending the convocation next month and _SQ_IDﬂ.\
A B ______L([:}E_(_'fi) 05-06 CU (BY) 15-16, 3) 1.,

50 1 am 9T ¥ so am | T | YI-6F WHA nefire w verb tsubject  Angpy
102, He has less friends in his classes now than he had last year. [CU B1) 15.15)
| A B C D [RU () 04.05,

, are Ans:A
countable noun € =t less IGTN 1% loss @ B fewer A ﬂ.ml : Sb . |
103. All the students got theirselves ready for the long _c_g_nép_mﬂ trip by spending their

A B
Cu
weekends living in the open. [CU (B1) 15-14)
D Ans:B
theirselves @ ¥t themselves T | T, 3" person object form +self/s?1ves
104. The prime minister emphasized the need for justice and equality ggt%
A B
his/her people. [CU (B1) 15-16)
D Ans:C

people TR (TS I TN A G A4F (R 1% between 99 Z& among AT |

105. Between 1914 and 1932, T.S. Eliot taught school, wrote poems, and assistant in
A B C

editing a literary journal. [CU (E-Law) 15-16]
D E Ans:C

assistant @3 70 assisted T | I, parallelism ST FRSTTR past form S |
106. Anv group that conducting its meeting using parliamentary rules will encounter

A B
situations where prescribed procedures cannot be applied. [CU (E-Law) 15-16]
C D E Ans:B

conducting @ % is conducting T | ¥4, antecedent +that + finite verb
107. Gone with the Wind, the epic novel about life in the South during the Civil war

A B C
period, took ten years write. [CU (E-Law) 15-16]
D E Ans:E

write 9% 27 to write 203 | ¥4, take + time (hour/minute/day...) + infinitive (to +base form)
It takes about half an hour to get to the airport. It took him three hours to repair his bike.
108. The need of a well-rounded education was an idea espoused by the Greéks
o A B C
in tll)me of Socrates. [CU (B-1) 14-15, (By.s) 15-16]
Y ; ABS:D
in time of &% 2% in the time of 2@ | @A, ﬁfﬁmwﬁmwmw l ;’_,,J

109. Mice have a keen se g i
e nse 0_]13smell and can quickly detect, a apgrgaching _d_aI_I;gEl_'

[CU (C) 11-12, (B,) 15-16] Ans:C

a approaching @7 %tet an approaching 79 |
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110. She is looking forward o £0 to Europe after she finishes her studies at the university.
A B C D
[RU (#&m) 09-10, CU (C) 08- 09, 09-10, (B,.5) 15-16)Ans:B
80 99 T going wwmard to &% A verb 57 310K ing cart =
I11. The progress made in space travel for the early 1960s is remarkable. Ans:D
‘ A B cC D [RU (wi#mm)05-06, PUST (A) 09-10, CU (B1) 15-16]
| for 9% ¥+ since 2w | T, 1960s =Wz point of time I3 since 79%5% 2 |
112. They asked me what did happen last night, but T was unable to (il them.
A B C D E
[CU (C) 08-09, (C,) 13-14, (B,.5) 15-16] Ans:B
u'hat did happen «3 g1 what happened 203 | $@9t, S+V+.. Wh word +affirmative sentence
113. Tdon’t know where could he have gone 5o early in the morning.
A B C D Ans:A
[RU (Law) 08-09, Basic Bank (Ast. Officer, Cash)-14, CU (B-1)13-14, (B,.5) 15-16]
Embedded question: Subject+ verb+.. + W word + subject + verb + extension.
Source: CLIFF TOEFL PRACTICE TEST 5 Part B Question no.24 Page no.447 (4= 398 (7971 TATE
114. Ancient drawings indicate that skill of juggling is at least three thousand year old.
A B C D
[CU (By) 15-16] Ans:D

three thousand ®=t plural o 0z o1% year 99 eI years 24 |
I15. Of the billions of stars in the galaxy, how much are stable enough to hatch life

A B C
on their planets? [CU (C) 11-12, (B,) 15-16]
D Ans:B

much @3 T many 2 | T, plural countable noun 9 A many 9 uncountable noun €
AR much IJIZ© =7 |

116. Mina said she would borrow me her new movie camera if I wanted to use it.

Y O : C D  Ans:A
borrow (4% FA1/417 (A1) @9 30 lend (419 03 ) T | [CU (B-1) 14-15]
117. Having been beaten by the police for striking an officer, the man will crv out in
A B £ D
pain. [CU (B-1) 14-15]Ans:D

will cry out @3 2T cried out 269 | 194, having been +vpp RIS past tense @ TS =T |

118. Some teachers argue that students who used to using calculator may forget

A B C
how to do mental calculations. (JnU (D 15-16]
D
who used @@ 21 who are used 204 | 99, used to +base form ; be verb /get used to +v+ing
119. Most babies will grow up to be as cleverer as their parents. [JnU (C) 15-16]
- A B C D [SeTSTT=Tet T Te-33]

cleverer @3 BT clever 24 | #1a9, as/so +positive degree of adjective +as; J®arR Ans:C
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120. A new battery for domestic appliances in the house s 23 thin and flexible as pape-
A B C D Ans:p

T domestic *® Fa in the house T TR SETICTATH (W aft T A |

121. Diversification is a strategy to investing in many !l_'lr_e_]itf—‘! business. [JnU (C) 15-16)

A B C J, Ans:B
investing 99 T invest T | P, ST @RS (0 4K W ' —
122. You never get a second chance giving a first impression of yourself. No error,
A B Gl oodod [ FGER
giving €3 T of giving T | T, CRICT fog Fafa AT (AR chance of doing sth w
123. Harassment in office is a manly issue. [JnU (C) 15-1¢)
A B.C D Ans:.C
manly @3 T womanly T | T, SR (RS () Al w4 T AT |

124. Identify one of the underlined word (s) or phrases that must Pe changed. in order for
the sentence to be correct: "Popular method of treating colds include taking extra

vitamins, getting a lot of sleep, and;drinking plenty o{f _]iguid. . .[DU (C) 14-15]
a) method b) colds (%)  ¢) extra vitamins d) sleep e) liquid Ans:a

method @3 Zw methods 20 | =, AEF verb include' 2 plural ©12 subject foe plural =7 |

125. They advice that a passport should be carry with you at all times. [RU (E-Gar9) 14-15]
a b c d Ans:ac

advice 97 207 advise @ R be carry @7 0 be carried ¥ |

126. This newspaper maintain a balance in its presentation of different opinions.
a b C d Ans:a

This newspaper 205 singular subject 12 maintain &5 maintains T | [RU (E-fwang) 14-15]
127. We enjoyed the brilliant sunshine of the beach so much and when we left there

A B
was only one couple and one lifeguard still there. [JnU (C) 14-15]
C D Ans:C

was a7 0 were XA | F199, and 7T UG S1EA noun @ A verb & plural =T

128. It is essential that a temperature is not elevated to a point where substance formed
A B

may become unstable and decompose into its constituent elements. [JnU (C) 14-15]

C D Ans:A

is not ¥ ZT be not 203 | F199, essential, imperative, urgent TS5 + that +sub+ base forﬂ

129. When they have been frightened, as, for example, by an electoral storm, dairy cows

A B C
may refuse giving milk. [NSTU (B) 12-13, JnU (C) 14-15]
_ D Ans:D
giving 99 20 to give 2 | 14, refuse @7 4td infinitive 07 | j
130. Peter and Tom plays tennis every afternoon with Mary and me., [JnU (C) 14-15]
A B C D Ans:A

plays 92 e play 24 | @iz, and @1 906! S@@T noun % T verb 5 plural =7 |
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131. He was appointed and dismissed from the post on the same day.
A B C D Ans:a
[Exim Bank-11, Trust Bank (AO) 12, JU (E) 14-15]
appointed 9 ¥ appointed to T | 317, paralell structure SPAE and @ Tew AT verb +
preposition S T | wrata, fFrarst ¢t o appoint to (some post) AIES 2 |
132. You will need four liters of milk and two dozens of eggs.  [Exim Bank-11, JU (E) 14-15]
A B C D Ans:c
dozens @ ¥ dozen A | 3, dozen, hundred, thousand, million, billion 351w @ 74 one,
two, three -- W 77 @i plural form @%3 77
133. 1f a student thinks its easy to get a chance in the university he’s living in a dream
A B C D
world. [RU (E- even) 12-13, JnU (C) 14-15] Ans:B
| its (possessive) % ¥ it (objective) T | T, verb +object +adjective complement
134. Fiber is important element in nutrition and it aids in protecting the digestive tract
A B C D
as well. [JnU (D) 14-15] Ans:A
ris important €¥ ¥ is an important T | F19, a/an +adjective +singular noun

135. He made me sit down, and he was tying the string of the new rubber apron tightly
A B C

around my neck, and_combed up my hair. [DU (C) 13-14]
D E Ans:B
' he was tying 9% T he tried @ | @, ST clause @Y past indefinite tense @ =z 4w
| parallelism (I FAI@AETOT (TN WP FISET clause 2 past indefinite tense @ T3 |
136. Whatever is grown in the Kitchen garden it is not a vegetable. [RU (B) 13-14]
A B C D Ans:C

| 3T it WeTETEA | Whatever is grown in the kitchen garden 2t Noun clause 93 @5 InE9
subject T2 «% subject clause 9 AR verb I |
137. Nobody had known before the presentation that Sue and her sister will receive the

A B C D
awards for outstanding scholarship. [JnU (C) 13-14]
Ans:C

Twould receive 27 | 134, that €7 7t4 past tense W f44¥ that 99 T3S past tense T |

138. Until his last class at the university in 1978, Bob always turns in all of his
A B C
assignments on time. [PUST (A) 10-11, JnU (C) 13-14]
D Ans:B

turns <7 207 turned 20 | F199, 4% TeteH(e 1978 Trgrd witg R past indefinite TR |

139. Before we returned from swimming in the river near the camp, someone had stole

A B
our clothes, and we had to walk back with our towels around us. [InU (C) 13-14]
C D Ans:B

had stole @7 %z had stolen 2@ | ¥1@9, had 4% “ta verb 9 past participle 07 |
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U Class on the other side 0%
]

: e
140. When I last saw Janet, she _I_l_l;B[I,l_@Q to her n C
i -1
and did not haye time to talk. Ans:g

D o oo SPRD O T T Structure g
hurried @7 %G was hurrying =T EED tﬂwa;in I saw him, he was reading a novel, :
X .t inuous = 2
When +past indefinite, past CORZ 1 the text below. Select the one which is wrop,

¢ are four underlined sections in '
e 113‘th1 ¥ ?ll : trl(l)c increasing popularity of internet shares has led to further investment
vidently, d there ar¢ persistent rumours of takeovers. [InU (B) | 5.1,

~ . & 101. an 5] 3 ; .
g;xto (f)t this sec b) out of ¢) rumors of d)] led to Ans:b (in ™)
T o of the following sentences are marked as A,B, C, D,

142. The four underlined parts
Identify the word or phrase that is not correct [JnU (B) 13-] 4

When the queen (A) heard that (B) the prince Qgg_lf was ill,

(C) she went to his room (D) to have a look at him. _
the prince (IE@) TR TFIIOF w2 @ Emphatic pronoun f8 himself = |
143. Didnot she ask you why you were late? [RU (B) 13-14]
A B c D Ans:A
Didnot @7 %% Did not 3 Didn’t 23 | ¥, Did @ ¢l not 67 1 fag Y ¢ Didn’t 7@ J
144. You would not get into any trouble if you had abided within the law. [RU (B) 13-14]

Ans:B

A B C D Ans:D
within €% 0 by ¥0a | I, (W12) (W oot wied abide by 197 2 |
145. If he had worked hard, he would succeed in his life. [RU (B) 13-14]
A B G D Ans:C
would have succeeded =@ | 3=, If +sub+ had + V3+ ----, sub + would have + V3+ ----
146. She told me that she dislikes the show. [RU (B) 13-14]
A B C D Ans:C
dislikes @7 %t disliked 203 | 199, main clause {6 past tense 27 9+ clause fo'e past tense T |
147. Ranu thought that she did bad in the examination. [RU (B) 13-14]
A B C D Ans:C
bad &% Zte badly 203 | F199, transitive verb &3 #tF object T AT adverb I67 | __J
148. She says that the accident has been occurred last night. [RU (B-Law) 14-15]
a_ b c d Ans:c
has been ™ AT | F199, last night 4T past indefinite tense (subject +past form) 27 | j
149. He sp:nds a lot gb_t_' money because he lil((;i mm(-jketing. [RU (B_La‘vl:;_sl.fg
lxrk\itznfsﬁzq:{t;e tez;:h\:r . ct) X S0pping ( il —”"
e gl];_e us homework for the next week. [RU (B-Law) 13-14]
give 4 FU 0 give XA | T4, ask +obj C NI D Ans:B
151. There is a primar S(;h’()ol ORject + infinitive( to +base form)
Y uB and a %ﬂs_a in our vi]l)lage. [RU (B) 13-14]

re q | T4, There +plural verb +plural noun; There +singular verb + singu@
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A it e S b

cr\ late ¢ ;h(*ltin.uuz Aast nlght, aml nnl‘mmnutcly fqr him. the dog

‘ o ‘ A e B C
harking woke everyone up. [InU (C) 13-14]

R DA R B a0 ' o ARG

| dog W V,Wﬂ dog’s m’ | B, Pt"“‘mt‘ an ok Pﬂkscww (my his, her, its, n;ﬂ .s) A | L]

153,

152. l’mrick w M v

s e A e L A

The flag is mc n in the * mor ning and taken down at tu,ht l)y“th"e nfﬁcial%.
A B Cop

iy [RU (F- Fvcn)H -14] Ans:A
! H&C‘n ‘144 ﬁﬁm ie'l“l. d 'T? | W]m ”ﬁ‘f—'ﬂ”ri '-’fam W 'c“‘ﬁu‘ 3]‘315}‘5 5)‘]’ qq: q,r Vi o V\ 5"»* rr"“‘.(l }

s M s i B A S N

“4 Th(‘ sun mpplim the !ight and lhc \\mmth that pcrmil lil'e on earth gtimng.

e s A B C D Ans:D

Sy i St ot B e A e i

i’r ““ch“P @ T 10 exist &2 ) W, permit *Uhlt‘tt + InrlllllVC“»O +yerb @7 ba'sc form) I

e e 0 S s il i ol b e o it

e i LA 1 .

155 L\..t_‘.zg_a_!:s_hroqunﬁ the careful colleet and organization of data. [RUJ () 13-14) '
e A : ) ,B C D Ans:C

' collect €% 377 collection 02 | IR, adjective 54w noun 97 424 noun ¢# modify %77 |
156. A person must be at least twenty-five years age in order to serve as an M.P.
A B C D Ans:C
| Bge ¥ WA old T | (F I ot 370w years of age S9at years old Wﬂ l 7
. One should never throw water on an alive electrical fi re. o
A B C D Sl s
" an alive ©3 ¥ a live R | 9, alive 0% predicative ad_]ectlve W’Tﬂﬁfi verb., £l
158. Around 75 percents of the earth’s surface is covered_by _\zg_t_éj -
A B C LoD
pmccnts & 1] percent T | TR, percent R adverb KUk adverb é}‘# plural ‘Qﬁ”‘ﬂ"

A B C s
| song 9T ¥ songs %R | F19, many 49 7t plural noun I |

A B C .

- the third @2 %79 a third 224 | F199, 9F-FomR* =d one thlrd:ﬁtaihlr Rt

‘i 61. Venus, the second planet from the Sun, is exactly ulmust the same siz
A B C:

EXac u, almost <2 271 almost exactly 24 1 €18 Ans:C

162, Lack of sapitation in public places are a major cau_e 0'3: dis
A B 5

of our country. [RU (T 9w asidar) 07-08, CU (C)) 13 14-11

{

"are w7 w0 is w4 | A subjut (Lack of sanitation) Ztvz

163. Hardly he had entered the office when he realize
A » : B i

‘Hardly he }md u’m zm Hardly hdd lw -'ec«l 1 ne;,auw,
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- hews was profoundly
D E

164. To the man whom worked so hard on the project, th

A B C ;
disappointing. . — [CU (B-1) 13-14] Ang. 5
whom @7 ¥eT who T | B, verb 99 o subject form e e
165. The Nobel prize winner, accompanied by her husband an ’ = aying i
B
A CU (B) 09-1
Sweden until after the presentation. [CU (B) 09-10, (E)Ais.14]
s:C

D
i un SR verb I0T |
foh ' T, accompanied by & 7T nount 3t prono .
are 9% ¥ 18 | a [ y Ve I

166. You had better to change your study habits if you D_Q(.:P-Q tob 5
A B
[RU (Finance) 08-09, CU (*) 09-10, (Cy) 13-14] Ans:B

department.
to change 9 ¥ change X | ¥, had better @ 4t verb 4¥ base.form T |
167. Neither of the boys have turned in the term papers to the instructor yet.
A B C D Ans:A
have @9 C7 has 203 | ¥, Neither of +plural noun +singular verb [CU (E & B1) 13-14]
168. The people tried of defending their village, but they were finally forcced to relt)reat_
i y [RU (Law) 08-09, CU (C)) 13-14] Ans:A
J0T 1 S: CLIFF TOEFL PRACTICE TEST 5 Question no.25 Page no_448‘]

try @3 =td infinitive (to+ verb)
169. Malnutrition is a major cause of human suffering in those countries where the
A B C

production of rice have been impeded by frequent drought. [CU (C)) 13-14]
D E Ans:D
b & singular =<t has T

have @% 30 has @ | @19, production T singular subject faqra ver
170. This practice of cover up or denying guilt makes it difficult to tell whether someone

A B C D
is telling the truth or not. [CU (Cy) 13-14]
E Ans:A
cover up @ ZT covering up S | FF, preposition @3 A gerund (V,+ing) TCT | J
171. The professor was considering postponing the examination until the following week
A B G
because the student’s confusion. [CU (Bl) 13-14]
D E Ans:D

because 99 %04 because of Z(d | F199, because of G 2td phrase Q3 because @ & clause 3 l

172. Ther/(jL were so mt};ch people trying to leave the burning building that police had 2
e D
freat of trouble controlling them. [CU (B1) 13-14] _ AnsB
@3 - |
]’YIT;UCA ] 20 many 29 | F199, people 25z countable noun 12 @7 td many T |
. e unch %fsoup and sandwiches do not appeal to all of the students. [CU (B1) 13-14]
C D Ans:C

do not ¥z j
%A does not A | A subject, A lunch 2% singular ©1% singular verb ECE:I
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174, The bridge wa /::imn by ai

Ship during a sudden storm last week. Ans:A
hitting 9% ¥ hit Ty Passive :

— C D [CU@BI)I13-14]
175. Joseph’s story is a c;.;‘,;;r-«h‘fl?_'_‘_? T by jn_a?m Vpp/Vy 751
A

. rg al nfm trapped by the fear and
' D i

hunger.
the fear @ ¥ fear Qm~\—

——

: o e [DU(C) 12-13] Ans:E
source: CLIFFS TOEF, PRACTICR TEST 4cpar ¥R SR 51 the brn S modify #at awa =
Choose the incorrect word

art 3 :
/phl‘ase. -\()1—'3"'1’1‘_"')'24 Page no. 418 o

o3 Grant wars
176. Just (a) calm (b) dow

RU (D) 12-13
N (¢) ang breath (d) (RUL ,AnS'c]i
breath (n) 99 ¥ breathe V) a7 HW .
. Tl Ty b
177. Charlotte (a) plays (b) tennjs i

phrase 513 and 97 7 verb T |

: Very (c) M (d) —
bad (ac).) <% Xew badly (adv) =z, TR, verh
178. She failed to gajp » verb

modify #ars adjective 77, adverb wasm =71
University of his choice.

ad j
o : Mission ¢q Rajshahj

[RU (E- even) 12-13]
@m her &7 | Anteceden

n S CD Ans:D
7 R € WItE fayry Possessive case f5 her 37 |
179. Everybody Wwants to Study in £CONomics at Rajshahi Uni - 3
A B \C\\ I_)_ ] 1 University. [RU (E- even) 12-1 ]
; ] Ans:C
economics 4 Fe e 1 «
Mr study %% transifive verb
| SR 4 K& . Subject @7 71y AT G Preposition 97 @937 = |
180. The talk was both Informative and entertainin
A B \C n = g. [RU (E- even) 12-13]
Ans:A
| Thetalk &= FeT The speech R | IR, talk 2R FTPA W4 speech T2 TF
181. All channels of fommunication need to be keep open. [RU (E- even) 12-13]
A B C D Ans:D
to be keep 9% 2t to be kept 23 | I, to be a7 *Ie past participle 3t |
182. A student need to be educated on the da

ngers of drug taking. [RU (E- even) 12-13)
A B C

D Ans:B
"n&daa %0 needs 20T | 9199, A student %= singular subject w1} singular verb T3 |
183. He need not to go there. [RU (B-law) 12-13, (E-fazars) 16-17)
a b ¢ d Ans:c
@mﬁ, need not 2% modal ©1% @7 %@ verb 97 base form 7 |

T

[RU(B-Law) 12-13]

184, Education is low on the Government’s legislate priorities,

a b C d Ans:c
legislate wz %7 legislative 2@ | ¥1@, noun (priorities) ™ modify ¥4t® adjective @3 wawm |
Py

185, Eric and his sister won the first prize for the most elaborate customs they had

A B C
[BU (D) 12-13
worn at the Halloween Party. Ans;C]
2 ints: “ifa wafes - )
@V@) @7 77 costumes (¢1M1F) 24 | Hints: worn ( z@-’
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186. Although both of them are trying to get the scholarship, she has the mgl%
A B (i
grades [JnU (C) 12-13, RU (E1) 17-18] Ans:D
highest @7 Z higher 20 | $, both WHET FREAE (IR IR WO W4 T F A the +
comparative degree I3I7° ¥ |
187. The pilot and the crew divided the life preserver between the twenty
A B C
frantic passengers. (JnU (C) 12-13]
Ans: C

D
between @ ZCT among TF | I, FIA W4 T 1 389 7L< preposition ReT among &7 'j

188. It is important that he speaks to the dean before leaving his vacation. [CU BI 12-13]
A B C D E [CU D 22-23] Ans:C
speaks 9% FCT speak @ | IR, Subjunctive adjective+ that + subject+ verb (base form)
Source: CLIFF TOEFL MINI TEST 3 Question no.4 Page n0.196 (4% IR TSN TR
189. Scientists are trying to device an inexpensive substitute for gasoline.
A B C D E Ans:B
device @3 =T devise TJ | [CU (Bl) 12-13, RU (E, 2) 17-18]
FE, to 9T T A4S verb @9 base form 61 | O TeRA F41 wd to ¥ #Ita devise P |
190. The first electric lamp had two carbon rods from which vapor serves to conduct
A B C D

the current across the gap. [CU (C3) 12-13] Ans:C
E
serves &9 e served T | T, AP &9 verb ‘had’ 7@ If6A past tense i« stz |
191. The next important question we have to decide is when do we have to see the coach.
A B C D E

[CU (C3) 12-13, NSTU (C) 14-15] Ans:D

do we 99 FTT we I | T, wh word + subject +verb (Embedded question Wit aore)
192. If your friend had been careful, he would return the book in time. [CU (C3) 12-13]

A B C D E Ans:D
would have returned ¥ | ¥, If + past perfect, sub+ would have + Past participle J
193. The news that the ship sinking came as a great shock. [CU (C3) 12-13]
A B G D E Ans:C

sinking @ ZT sank X3 | F1A9, that €7 =<t clause @ 936 finite verb wasid |

194. The Ahmeds asked us to look over their plants while they were away on vacation.
A B C D E [CU (BI) 12-13]
over 4% 74 after 2.3 | T, look over- */ % Tt ; look after- o7air&=T 41 Ans-C |
195. Neither of the two candidates who had applied for admission to the Law Faculty

A B C
were eligible for scholarship. [CU (E) 11-12, (C1) 12-13]
D E . (CI) 12-13 ¢ Law @7 «fre Business 9tz Ans:D
were a9 FLT was XiJ | F1, Neither, subject 261 verb 6 singular ¥ | __,
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196. We have been informed Tereq about the change in plans regarding our

A B C D
weekend trip. [CU (B1) 12-13]
E Ans:A

have been informed @3 07 have informed =@ | #taet, A passive T e active A |
197. There is an unsolved controversy as to whom is the real author of the Elizabethan
A B C
plays commonly credited to William Shakespeare.  [CU (E-Law) 12-13, NSTU (C) 13-14]
D E Ans:B
[_\ihom 9T FE who TR | 31, verb @3+t 7112 subjective form a7
198. In order for one to achieve the desired results in this experiment, it is necessary
A
that he work as fastly as possible. [CU (E- Law) 12-13]
B C D E Ans:D
L—fa'stly-kﬂ'ﬂ"{lﬁ fast T | IR, T W fast IJI5S =W SR, fastly 207 T =14 |
199. When we meet after the class, we discussed the topic of your essay. [CU (C1) 12-13]
A B C D E Ans:C
will discuss 2 | T, When + present indefinite, future indefinite
‘:IQRT, Future indefinite + when + present indefinite

200. The bell signaling the end of the first period rang loud, interrupting the professor’s

A B C D
closing comments. [CU (E- Law) 12-13]
E Ans:C

loud @ e loudly T | $4, action verb @3 @ 7R adverb <C1 |

201. Never before has so_ many people in the United States been interested in soccer.
A B C D E
[CU (E- Law) 12-13] Ans:B
has @7 2t have Z< | 194, Negative adverb +plural auxiliary verb +plural noun (subject)
202. It is an accepted custom for one to say “excuse me” when he sneezed. [CU (E) 11-12]
A B C D E  RU (E-=me) 13-14
35 G At excuse me JE 0 TSIe 31 ©i2 sneezed 99 F0T sneezes WA | TR Ans:E
203. When a patient’s blood pressure is much higher than it should be, a doctor usually

A B C
insists that he will not smoke. [CU (E- Law) 12-13]
D E [Barron’s TOEFL WtG# (556 o GTw : q 1 d>¢]  Ans:E

will not smoke @ % not smoke 2 | ¥4, insist (subjunctive) that sub+ not + base form.
204. According to the graduate catalogue, students housing is more cheaper than

A B C D
housing off campus. [CU (E- Law) 12-13)
E Ans:C
more cheaper @ 2T cheaper &4 | 194, English @ ¥41% double comparative X 7 |
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205. Pinpoint the error :
If you set in that position for too long, you may get a cramp in your leg. [IUG 18-19
7\_ B C D Ans: A

s ar) + n/pr
set T YT sit I | sit () + adverb/preposition QR sct (AL, T %40 nc:(u p On;)llm
206. As verbalization is the most common form of language, humans maxe use of many

A .
others systems and techniques to express their thoughts and feelings. [CUD 18-19]
B C D Ans:B

others @3 0 other T@ | ¥, many other + plural noun ; others- pronoun, other- adjective

207. Before TV, the common man seldom never had the opportunity 'toéec " th;r e
A B

leaders to express their views. [CU (B) T1-12, (C1) 12-13)
—E Ans:A

seldom never 93 ¥ YT seldom WeRT never XA | A, GFAY 73f6 negative form 3o7 ‘"E
208. The value of the dollars declines as the rate of inflation raises.
A B C D Ans:D
[RU (Law) 07-08, CU (B-1, D)11-12, Fremi TR S e (FH01, 37 afif)-se)
raises (3% 1) @ T rises (& “ANew) T | raise (vt)+noun/pronoun &F rise +0/adverb —l
Source: BARRON'S TOEFL (10™ Edition) MODEL TEST 1 Section 2 Question No.4 Page no. 342
209. I suggest that he goes to the doctor as soon as he returns from home.
A B & D
[RU 08-09, CU (C1) 12-13, (B1) 16-17] Ans:B
goes 9¥ FA go IR | I, suggest (subjunctive verb) + that +subject +verb 43 base form
Source: CLIFF TOEFL PRACTICE TEST 5 Part B Question no.19 Page no.447 (t& g8 (Feq TACZ |
210. The worlds airlines are moving towards a total ban on smoking. Ans:A
A B C D E [CU (C)) 12-13, KU (B) 14-15]
“IPT=MTf=1 FCBT noun @F & adjective T @32 ¥F plural 2 71 | =12 worlds 99 3t world’s T |
211. After she had dressed and ate breakfast, she left for the station to catch the train.
A B C D E

CU (C1) 12-13]
Ans:B; ate 9% Z(7T had eaten 29 | F199, and 97 T R AT THRTS verb @ UL [forn(l ?t)ﬂ |
212. The number of pupils in primary schools with reading difficulties have fallen
A B C D
this vear. [CU (C1) 12-13]
E Ans:D
have 9% Zt%1 has @3 | ¥4, The number of + plural noun + singular verb (is/has/was)
A number of + plural noun + plural verb (=A number of pupils/students are absent todg]

213. Dairying is concerned not only with the production of milk, but with the

A B C D
manufacture of milk products such as,

[CU (C3) 12-13]
E Ans:D
but also 2% co-relative 9T AT (ST SFCA W@_',_J

@ CamScanner
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214. The 'c'i'%lw's' of a democracy take part in government cither directly as members of
B C
government ,a_[r_;g indireclly by voting clections. [CU(C) 11-12]
o ——————_ E Ans:D
[and 48 T¥9G8 or T | Correlative fesz Fither . OF 778 #7 1~

Sharing cor YT R St
215. Sh orporate stocks with employees can be an effective way to promote

A
B
harnéonlous. % and equitability in the workplace. [CU(C) 11-12]
E Ans:C

harmonious €3 ARETE harmony 353 | Parallelism P noun 308 IASTAT noun 204 |
116, ecom , : . - -
216. To become psychology mature, one has to develop an individual way of life

. a3 . A B
distinguished from a mere identification with collective standards. [CU(C) 11-12]
C D E Ans:A

‘L;f}fw:holog}’ «¥ *f7TE psychologically @14 | @, adjective (mature) a7 £ adverb a7 |
217. Dorothy Parker had liberal political opinions, which are reflection in her stories
A B C D
and verse. [CU(C) 11-12,(C)) 16-17]
E Ans:C

[T weTe FEe O1 reflection (afewem) @7 #Afrars reflected (2fewfs 2waw) FA |

218. The registrar has requested that each student and teacher sign their name on
A B C D

the grade sheet before submitting it. [CU (C) 11-12, (E-Law) 12-13]
E Ans:C

" their @7 #7aTE his @72 | each/every 93 possessive case #&w Singular (his/her/its) T

219. Even a professional psychologist may have difficulty talking calm and logically
A B C

about his own problems.
D E [CU(C)11-12] Ans:B

| calm @7 “fz@re calmly 294 | #rad, verb (& modify $409 Q¥ 7tq adverb 07 |
|
220. The spread of English over most of the world as an international language is

A B
a2 unique phenomena in the world’s history. [JnU (D) 11-12]
C D Ans:C
lihenomena a7 “fa4cé phenomenon T @144, a + adjective + singular noun
221. Irrespective for the outcome of the probe, the whole %x affair has already _m%! a
A

‘the blemished record as a loyal ser i
lntlurto un loyal vant to his

shadow over this man’s
D E

[CU (E) 11-12] Ans:A

country. pa— P
— (.)un :y AT A ﬁﬂ waliey @, ffdeeics sied [rrespective of I9%® 7@
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five times. [RU (D-53%0) 17-18] Ang.g

won X | IR, last night 0% =8 WeresH Fuis o2 a1f past indefinite tense 2 |
223. The prime minister refuses to accept either of the six new proposals made by ministr,

The president refuses to accept cither of the four new mp_(g;al_s g_la_dDgL)_Y the co_ngm‘
A B

[CU (C) 11-12, (Cy) 14-15, JnU (C) 11-12, 16-17] Ans:B

either €3 *f¥ITS each/everyone T | GEA W04 (@A either/neither/both T3S 27 |
224. The amphibians are of few economic importance to humans. [CU(C) 11-12,(C)) 16.17)

222. Last night, the director finally wins the award, after being nominated
A B C

A B C D E Ans:B
Importance ¥ uncountable noun R @7 st few @7 Af=ee little I | t]
225. Psychology today is interesting, informative, and it is easy to read.
A B C D E

[CU (E) 11-12, RU (E-c79)13-14 ¢ Psychology @9 Republic of Plato f=77] Ans:D

it is easy @9 ¥ easy ¥ | parallelism s 3RetT? adjective 2T | ]
226. Whoever turned in the last test did not put their name on the paper.  [CU (E) 11-12j
A B CcC D E Ans:D
their ©3 2T his T | whoever @9 possessive case 5 singular widte his/her T ACF |
227. Since infection can cause both fever as well as pain, it is a good idea to check his
A B C B E
temperature. [CU (E) 11-12] Ans:C
as well as «% 7= and % | Both @3 3T correlative conjunction R&E and I67 |

228. Despite of the pills which are available many people still have trouble sleeping.
A B C D E
[CU (B-1) 11-12, RU (E-ca%) 13-14]Ans:A

229. News of Charles Lindbergh’s famous transatlantic flight in 1927 spread rapidly

A B
despite of the lack of an international communication system. [DU (A) 10-11]
= D Ans:C
Despite of @@ 22 Despite 20 | F1a, ‘Atgs” wd inspite of W1 8y Despite TI7© 2T | :]
230. If you want to loss weight you had better eat less. [RU 09-10]
A B C D Ans:A
to «% “td verb 47 base form 07 | ©IZ @I loss = 20 lose T | _/J
231. My brother is in California on vacation but I wish he was here so that he could
A B C D
help me repair my car. [CU (B-8)12-13] Ans:C
232. We wish today was sunny so that we could spend the day in the country
A B C D
communing with nature. [BU (B)13_14]Ans:A

Was 99 g were 209 | #1499, wish @# 949} clause 97 be verb 6 5 EM12 wore T |
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233. The influence of the nation>.
Y © ﬂ%‘}‘.’L’? literature, art and science have capture widespread

attention. G . E
have 99 ¥ has WW [CU (B-8) 12-13] Ans:D
subj
234. The food that Hafiy | ject (influence) @ singular 1 verb f6 singular 23 |

A %ﬂ_in the kitchen is smelling delicious.
[BU (B) 13-14, S1ei 36t S ey C D Ans:C

AT
is smelling <7 T smells 2 o (CIIF)-S, Bt 2yt fo, (vt G2 s, wpn)-5a)

AT AN: look, feel, hear, smell, t
235. 1am a forgetful per son; I alw

MRS verb of perception 4t =14 3fem art @@ 79 w®q
aste 3971 @7 continuous tense 2 1 |

ays have trouble to remember my password

on the comp :\ 8 c
uter,
D [RU (English) 09-10]
- Ans:C
@“bel 9 ¥ remembering 709 | trouble @7 It verb+ing 307 |
236. The way of% Whereby people do conclusion by logical inference from
: I B C
g!g!_“ premuises is called the deductive method. [CU (B-1) 11-12, IU (B) 14-15]
& Ans:B

do 93 I draw % | do+ work (=do business, do homework)
237. Helen Vendler’s €ssays present key insights into and vital analyses the works of

A B C
the major British and American authors. [CU (B-1) 11-12]
D E Ans:C

analyses 9% ¥ analyses of % | $199, Parallelism SFiie noun +preposition T |
238. Tons of boulders were leaved scattered by glaciers all over what was to become the

A B C D
New England landscape. [CU (B-1) 11-12]
E Ans:B

leaved 93 gt left 203 | Leave — left — left

239. Jekyll Island has been one of Georgia’a state parks in 1954. [CU (B-1) 11-12, (C)) 14-15]
A B C D.E Ans:E

%5 Present perfect tense @ ¥IPIT 1954 @4tT point of time IR S12 in @ 0 since A |
240. Wind and rain continually hit against the surface of the earth broken large rocks

into smaller and smaller particles. [CU (B-1) 11-12]
D E Ans:C
broken @@ %t breaking 2 |
241. A scapegoat is a person is made to take the blame for others’ misdoings.
A By .ok D Ans:B
is made @7 2ea &4 made W24 who is made 2| [RU (Law) 09-10, (E, 2) 17-18]

a4, simple sentence 4 «wfs subject TG 7f© finite verb &=y 3 T |
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+are out of late at night. (RU (Law) 6535
C D

Tes if their childre
242, Mpnrvntsw.::{dﬂ"' ’ B T Ang:p
A 18 QITA WOTTICS - A E
: pg——— | ral &2 T,_,,.,,, I
Suject ¥ plural n;;m{ a h"::.l"‘ :l‘ '_:'.r ihe town, which Is very cgnvz‘nicnt 13 the office,
243. My flat is right in ,
A B [RU (Law) 09-10] Ang:y

'&f_&}bﬂ-\fcﬁgﬁt for/to (sth) W7a&S 21 |
he had to have special permeate to buy a house in thjy

i v o e e,

334 Bocause he was a foreigners B C D
A [RU (Law) 09-10] Ang:C
country., wd ffere sl | ©I% @4l permeate 99 B permit 37

@y permit g
permeate ¥ T T 1 13 o1a w3 B FEATFT permit ATATET 207 |

feme
e, e Farwe @ o Y

ave us was different than the one yours gave yoy,
245. The explanation that our instructor g__B_ 2 3

A
[RU (Law) 08-09] Ans:C
CLIFFS TOEFL PRACTICE TEST 4 Part B Question n@

Different @@ *t than =1 01 from 1 |
546 A liter is onc of the metric measurements, aren’t they? [JnU (C) 12-13, 16-17]
A = C D [RU (Law) 08-09] Ans:D

A liter T0% singular subject ©12 tag @ subject f3 it zCa 1 ©13 aren’t they @7 *fFacS isn’t it T4 | I
247. The book that vou see laying on the table belongs to the teacher. |
A B C D [RU 05-06, 08-09, CU (°) 09-10] Ans:C
" laying +noun/pronoun ¥; &8 lying+ preposition/adverb/no word 27 |
Source: CLIFF TOEFL PRACTICE TEST 5 Part B Question no. 18 Page no.447 (4% &8 (7831 TAR
EZ48. We are suppose to read all of chapter seven and answer the questions for tomorrow’s
A B C D
class. [RU (Law) 08-09, PUST (C) 11-12] Ans:A
| @€ suppose @2 70 supposed T | I, FICEI fFE T T @RS be supposed to TS T |
Source: CLIFF TOEFL PRACTICE TEST 4 Part B Question no.38 Page no.420 (V0% §Jg (93 AT
249. Sylvester Stallone’s starring role in Rocky, which he wrote himself, made hea

A B C

nationally recognized figure virtually overnight. [RU (Law) 08-09]
: D Ans:C
 be verb BIg1 %% verb @@ #7a pronoun 44 objective case 07 | @ ST he 99 305 him T3 | _J
250. The easiest and common manner of determining whether gas was present was

A B

Lo use canaries which were highly sensitive to atmospheric impurities.

R ¢ D [RU (Law) 08-09] Ans:A

| parallelism =571ta and @9 44 @4 g superlative degree w4k easiest and most common_;ﬁj

251. Those of us who smoke should have their lungs X-rayed regularly. [RU (Law)07-08]
A B C D Ans:C

I 4% their @9 €01 our €04 | Those of @4 “ica person WPt possessive case 20 UG |
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252. People inm\\_m____
e P e States haye recently taken to traveling to work on bicycle to
A B C D

an increased AMount,

e ———— .aw) 08-09] Ans:D
@Y 0N T T by Twa | wyge i [RU (Law)
@RI ride on blcyck‘mm. A NS AT % by 01 | o7 B e
253. Both Loss Angeles oo

ngeles ana o e e
A seier and Ph""delphis are among the more populous cities in
the United States, B C D

hamcmg W RREE Wi M e — [RU (Law) 08-09] Ans:C

Pulous @z 5 most
— - : Stpopulous 377 |
254, Itis extremely importang for an en
B -

A gineer to know to use a computer
¢ D
pra— : — [Standard Bank-09, RU (Law) 07-08, (E-even) 13-14] Ans:D
| know @ " infinitive (to +v

A T ——ry young boys enjoyed to play football.
C D Ans:D

erb @3 page form) e know a7 I%a how 407 |
255. In England as early as the bvelfth centur
B

256. Mthem!mmmldo-
A B ¢ p g

lause @3¢ like @7 17 phrase 77 | fitsw e Ty
257. If it receives e€nough rain at the Proper time, hay will grow quickly as grass.
A B C D E

' [RU (Law) 07-08, CU (E-Law) 12-13, (C) 17-18] Ans:E
| as 97 B like 2T | FIE, as 97 7t clause R like 97 =g phrase 355 |

| Source: BARRON’S TOEFL (10" Edition) MODEL TEST 1 Section 2 Question No.13 Page no. 343

258. The prices of homes are as high that most young people cannot afford to buy them.
A B C D

[RU (Law) 07-08] Ans:B
CRT as & BTeT 50 20 | @19, Subject +verb + so +adjective +that +subject + can -_--_____-__ﬂ
259. Fertilizers are used primarily to enrich soil and increasing yield. [CU (C) 06-07)
A B C D [RU (Law) 07-08)Ans:D

ming @9 204 to increase 204 | F1a¢, and 99 %IE 99 *tq verb 99 93T form I |

_Source: BARRON’S TOEFL (10" Edition) MODEL TEST 4 Section 2 Question No.20 Page no. 414

[CU (C3) 12-13, RU (E, @=r3) 16-17]
Ans:D

260. Almost poetry is more enjoyable when it is read aloud. [RU (Law) 07-08)
A ]_3 C D Ans:A

Almost @7 7251 almost all of the @44l Most of the w&at Most m | |
%61, A prism is used to refract white light so it spreads out in a continuous spectrum

A BC
[RU (Law) 07-08]
e Ans:B
@#ﬁmwgﬁaﬁ‘fﬁtﬁﬂﬁ%so @7 ¥ because BT | Q
. g € <
705
T s S
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[RU (Law) 07-03
262. The new model costs twice more than last years model. -08]
l A B cC D Ans:B
T twice 9T I as much as I | T, half, twice, thrice + as much as - . t:|
i p t every citizen registers
263. Choose the incorrect word: Bangladesh law requires tha - Y ._ZB
i SUST 06-
himself/herself as a voter yoting in an election. [ A ,fs{.);]
C D : ;
registers 9 ¥ register I | FIT9, require (subjunctive verb) +that +subject+ base formj
264. I have been looking forward to meet you. [RU (’Fﬁ"m’f)piB-Og
ns:

A B . D
j

looking forward to @¥ *Ita gerund (verb + ing) 30T | : |
265. Profits are divided between the stockholders and the corporation. [RU (¥1Z0™) 03-04]
A —B_ G D Ans:C

ation FYRATS 3047 WS

WRER W @RITE between II[E W | QAT stockholders 8 corpor
RIS @ FRTT between 9T T among TR | P FRER S ML (RITS among IS T |

266. Identify the error in the following sentence: Even with a calculator, you must have basic

A
understanding of mathematics if one expects to solve complex problems correctly.
B C D
antecedent R @TT you WitR | BI% one 9% F0 you FA | [SUST07-08] Ans:C
267. Diligence and honesty, as well as being intelligent, are qualities which I look for when
A B C D

I interview applicants of admission test.[KU (SS) 11-12, BCSIC 4% w7 Sf¥=i14-3v] Ans:B
being intelligent ©3 27 intelligence I | parallelism WITa FRSTAR noun TR | 9%
268. She ignored the suggestion that she gets more exercise. [RU (#13137) 03-04]
A B C D Ans:D
Suggestion (subjunctive noun) +that+sub+ base form. @ FFTY gets 9T FT get I |
269. Although he tried as hardly as he could he did not win the race. [RU (=12a5131) 03-04]
A B C D Ans:C
hardly @7 71 hard 7% | %12, hard 97 94 T €32 @7 hardly < SwifeR Jr Fopeiy |
270. The central shaft is strong, thin rod, circular in section and made by hard wood or steel.
A B C D
thin rod @7 274 thin zta | F179 i iecti IR (A O] Anec
1 99, parallelism St F4qatel adjective 2R |

271. Obviously, she did not understood much of what you said. [RU (wie=Br) 04-05]

' A B C D Ans:B

did not &7 “ta base form 407 | w1z understand 994 | |

272. Kajol is pirti‘c;:nlarlv fond of cooking and he often cooks really delicious meals J

B i

really @@ 21 very #9ita | w1ad 44 7417 =ed very delicious ICC‘;' | ©Ig ins:D e 04-0:]'
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273. Students may buy used books if they had been readily available and correctly priced.
A B C D

had been @7 g are T | FRM, subject + will/ may/ can+ verb (base form) + ....+ if +

present indefinite tense %t 1 %1% Ans:B

[RU (727) 04-05]
274. Listening to recorded books while driving is a means of utilize time wisely.
A B C D  Ans:C

utilize 93 ¥ utilizing 2 | 37, preposition @7 1 gerund W verb +ing 3G | [RU 05-06]
275. Insurance underwriter insure people against many types of risks. [RU (#%) 09-10]

A B C D Ans:A

Underwriter @3 g0 underwriters 29 | 918 verb % plural Stz 4@ subject s plural =1
276. He enjoyed not only riding his bike but also the scenery. [RU 05-06]
A B C D Ans:D

Parallel structure S not only- but also @3 ¢%wa not only @3 =t parts of speech 98 (@
form & but also 97 a8 9% form ITT | @ IATT not only @F *t¥ riding his bike =T
but also 9 “ta verb+ing + noun phrase (viewing the scenery) T |
277. If you will buy one box at regular price, you would receive another one at no extra cost
A B C D E
[RU 05-06 CU 09-10, CU (E-Law) 12-13] Ans:A
will buy @3 7T bought T | 1=, If+sub+past form+.., sub+ would+(verb) base form+....

278. Neither of the two candidates who had applied for admission to the industrial

A B
Engineering Department were eligible for scholarship. [RU 05-06]
C D Ans:C

were 93 30 was T4 | 3¢, Neither, subject 2 verb 0 singular 2 )

279. Neither of the students have submitted term paper to the teacher yet. [RU Fin. 08-09]

A B & D Ans:B
have @3 F has 2@ 1 ¥4, Neither +of +plural noun +singular verb wiefie Neither of @ 2t
plural noun @2® singular verb 3% |

280. John Dewey thought that children will learn better through participating in

A B
experiences_rather than through listening to lectures. [RU 05-06]
C D Ans:A

[ that @ =43 clause & past tense S1% that €% *ita7 clause 5 6 past tense 207 1 12 will 97 73 would T |
281. The man came up to our house on a bicycle which he leaves leaning on the gate-post.

A B C D [RU (English) 09-10] Ans:D
leaves @3 I left T | IR, Principal clause & past tense @ 9@t sub-ordinate clause b
past tense @ I | W which @3 *It3 past tense T |

282. The professor were traveling in Europe when he received notice of his promotion.

A B C D Ans:A
[RU (WTeea®) 09-10]
were &3 J0T was @ | I, subject (The professor) T’ singular T ©1} verb's singular T3
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’t neither
i t vet, and Salma hasn f >
283. Salam has not completed the assuBgnmen 1C, e R 09_18
A . 0
T 7X negative 01 A1 Weffe QT has not TR fgra neither 99 vrﬁmtfb] eltl;e; A |
284. Drug abuse have become one of America’s most serious ro Dems. [ WWPX):IOJ
B C : S:A
- g abuse) singular f4 verb f5 @ singular 27|

have @7 ¥ has T | ¥1a, subject f& (Dru '
285. The homeworks that your teacher assigned is due on Tuesday.  [RU (English) 09.;
| A B C D Ans:A
sentence @ verb B is 9w homeworks 99 & homework 2T | .
he could have avoided the accident.
C D
[RU (English) 09-10]Ans: A

286. If he would have come when I asked him,
A B

If + subject + had +Vpp +extension, subjectt would/could/might have +Vpp+ extension

287. Choosing between you and she is very difficult, both of you are fully qualified.

A B C D
[RU (arzr#r) 09-10, IU G 18-19] Ans:B

Preposition €3 & €IRF pronoun A AT objective form 07 | ©1Z she @ F her Zq l

288. Alive creatures are remarkably diversified in their sizes and shapes. [RU BBA 09-10]

A B C D Ans:A
Alive @3 %=1 Living (§19®) =3 | 3199, Alike, afraid, alive, aloof, asleep, ashamed, alone,
awake, aware, content 271t 0% predicative adjective ©I2 @ar 5dIZ verb O #ta 967 |

289. Poor soils containing an excessive proportion of clay are frequent mixed with
A B 5

chalk to improve the texture. [CU (B-1) 10-11, (C) 11-12]
D E Ans:C

Frequent &% 2t frequently 2t | ¥199 Auxiliary verb 8 principal verb @3 IR adverb <07 |
290. The electric furnace is used extensively to produce the hi-greed steel is required

A B C
for the manufacture of steel alloys. [CU (B-1) 10-11, (D) 11-12]
D E Ans:C

| A= A ST AT is used @3 finite verb @itg Ry i required TIF© (I |

| is required 9% 70T required 204 | SR, 9B Simple sentence 9@ &% finite verb MEY) ‘]
291. Although we are concerned with the problem of energy sources we must not fail

A
.r - B
rec((; nizing the need for environmental rotection, [One Bank-10, CU (B-1) 10-11]
D E :
- »” . - . . AnS:C
fail @777 infinitive ( To + verb @9 base form) <909 | ,
292. Nei i
92. Neither the players nor the trainer were in the locker room when the thief broke in
A B
C D

the door,

X ‘B
Were 47 70 was 204 | %144, Neither — nor @q [RU 08-09] Ans:
’ 7 (%G nor IF At subject SR verb 071
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293. L_fanyone ca};ls while we are in the conference, tell them I will return the call after
C D
the meeting, [RU 08-09] Ans:C
ARY Antecedent Romg anyone IS MR B2 them 93 ¥ him 21 |

294, The animals who ar
A

donkey and the elephant, were created by the renowned cartoonist Thomas Nash.

C D Ans:A
who 9% ¥t which/that | P, IEABF which/that RRITS 32 JTGIAGE @RS who TJ3z®
| ®X that Tex (wiaR aage 77 |

e chosen to present the Democratic and Republican parties, the
B

295. Each of the dogs in the show require a special kind of diet. [31%1R (FT1, 37 @f)-se]
A B C D Ans:B

296. Each one of the animals in the Z00 require a special type of diet. [KU 09-10]
A B C D Ans:B

require 9 ¥ requires T | <, Each (one) @ #t plural noun 9918 verb & singular 2¥ |
297. Mary, accompanied by Jane, were well received at the show. [RU Management 09-10]

A B G D Ans:B
[jccompanied by a3 47 subject SR verb 37 | QM subject & singular ©12 were 97 37 was T |
298. The earth was once inhabited by

plants and animals of which today there is none

A B C D
living trace. [CU (B-1) 10-11, (C)) 16-17]
E Ans:D

None 93 F no 24 | None w4 pronoun fxea U7 R noun 3t adjective @7 & BT |
299. The duties of the secretary are to take the minutes, mailing the correspondence,

A B C
and calling the members before meetings. Ans:B
D E [CU (E) 10-11, 11-12]

to take 4% MY taking X | F17 parallelism STAA Faatas verb+ing Zq |
300. Ancient drawings indicate that skill of juggling is at less three thousand vears old.
A B C D E
[CU (E) 10-11] Ans:B

at less 9% SR at least T | T4 =g 277 at least Ta5© El

301. The examination will test your ability to understand spoken English to read
A B C
non-technical language and writing correctly. Ans:D
D E
[Standard Bank-09, One Bank-10, BD Krishi Bank-12, SUST 08-09, CU (E-Law) 12-13, RU (E-even)13-14)
Writing @< ST to write XF | 199, and 9F & 932 7 verb @7 form P2 7T LT |

302. Identify the incorrect part of the sentence: There are ten childs playing in the yard

A B
near her house, but your child is not among them. [JnU(C) 10-11] Ans:B

C D
ten @7 It plural noun 3773 M children 2 | F1, child @ plural 20 children

MASTER <@D)



https://v3.camscanner.com/user/download

h it causes hecause sound travels

o the thunder
303. We see nghmmgnw/\am.!ﬂsﬂ"“’ e

[RU (Law) 10-11)
more slowly than light is. Ane)
3 D 1!1 verb ¢ tense 4 ot Bl s than @3 T

light is @3 ¥ light does @ | & than @3

auxiliary verb (pro-verb) T | —eiiher have 1 T PTY
‘ i , ntence: [N€
304, Tdentify the wrong section in the following se A

[JnU (B) 09-10]
. r.
not 1 will ever say that !_1'6“_‘ desirous p_é Powe Ans:B
B T ject |
nor 1 will @ e nor will 1203 | ¥, Negative adverb +auxiliary ver Heudjes :l

305. Indicate the error, if any, in the underlined words.

He was the author whom I believed was most likely gg_r_e_g%_il@ the Ekushe award.
A B C
(DU (C) 01-02, FeretE) F SHAT ANF (CFTATF)-3¢]
No error i
E

ﬁ'hom @7 %77 who 0@ | ¥179 &NCS G IR Pronogn w* who & whom 9% A= GTYT
S - BARRON'S SAT Section 4 Question No.14 page 64
130‘2";‘2 more the relative humidity reading rises, the worst the heat affects us.
A B C D E
[Standard Bank-09, CU(C) 11-12] Ans:C
307. The harder she tried, the worst she danced before the large audience.
A B C D E Ans:C
[DU (C) 09-10, CU (C)) 14-15]
" worst 9% T¥ worse 202 | F13d, AT TS 41 WA ZF-Jfa @RS ’
| The + comparative +(subject+verb+-- ), the+ comparative + (subject+verb+--)
30%. Not one in one hundred children exposed to the disease are likely to develop
A B C D
symptoms of it. [RU (BBA) 05-06, CU (C)09-10] Ans:C
E are @7 %0 is 2« | 9199, subject f20@ Not one @a&® 21 verb & singular
309. Never before has so many people in Bangladesh been interested in cricket.
A B C D E [CU (C) 09-10) Ans:B
| has &% ¥ have €< | #1#, so many people 2 plural subject ©1Z verb 6 plural T |
310. The man who is laying in aisle needs medical attention immediately. [RU (¥139™) 08-09]

A B C D Ans:B
311, Whitman wrote Leaves of Grass as a tribute to the Civil War soldiers who had laid on
A B

the battlefields and whom he had seen while serving as an army nurse,. [CU (E) 08-09]

C D B [NSTU (C) 13-14] Ans:A

awafore laying @ 2o lying o | fadiufoes laid @s weet lain 2 | Plad,

Lie/lied/lay/lain/lying (scu 7wt a1 411, f@g A0y «I%1) @a 4t preposition/adverb 307 |

| Lay/laid/laid/laying (fag arai,#1Gce eox ar, fox sirer) «a sica noun/pronoun I |
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312. A ray of light passing through the centre of a thin lens keep its original direction.
A B C D
[CU (B-1) 10-11, RU (B) 18-19, w-3tfrer] Ans:C
A subject (A ray of light, 3B sizette af*y) gz singular ©12 keep 47 0 keeps T |
313. Neither of the two candidates who had applied for admission to the industrial

A B C
Engineering department were eligible for scholarship. [CU (C) 09-10]
D E Ans:D

Were O g was T | T, subject &eia Neither arage 2 faum verb  singular 29 |
314. Please send me information with regard of insurance policies available from your
A B C D
[CU (C) 09-10] Ans:B
with regard of @3 ¥ with regard to/in regard of 2 | with regard to/ in regard of= &, w5
315. Itis not you who are at a fault; rather, it is it I who is to blame. [RU (Law) 04-05]
A B C D Ans:D
is @3 ¥ am TR | $17, Relative pronoun @3 &St #f6F Antecedent FPAH verb 307 |
316. The court lies down the guidelines for negotiation between the two groups. [RU 10-11]
A B c D Ans:A
fafefeui= 5=1 341 TRITS lay down 3135 = | 12 lies down @9 Z0 lays down TA |
317. To help and guide the courts, modern statutes often includes an interpretation
A B
section with definitions of words and expression used. [RU (Law) 10-11]
€ D Ans:B
includes @3 S include %W | 179 subject G (statutes) plural 1 verb 6 plural T3 |
318. The state governments have to administrate the laws by the Parliament. [RU 10-11]

A B C D Ans:B

administer 24, administrate @36 & *¥ | G¥: pronunciate T, pronounce A3 |
319. Peach trees grow good in a variety of soil types, but do best in sandy loam.[RU 09-10]
A B C D Ans:B
(good @7 2= well 209 | intransitive verb @3 #Itd TS adverb IC7 |

320. Cans of paint must be shaking to mix the pigments with the medium in which
A B C D

they are suspended. [CU (E) 08-09]

E Ans:B

shaking @7 777 shaken %4 | 9199, sentence & passive $40S &4 | 3541 Cans of paint (I
ATGGTAT) (F TG W41 ATFH e 20 | ©F be @ AW verb @ past participle I |

321. When vigorous exercise, muscles require a much greater amount of oxygen than
A B C D
when they are at rest.

E [CU (E) 08-09] Ans:A
When @ %4 During 2@ | During +phrase; When +clause; vigorous exercise 25 phrase
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i ity. [RU (®1%0M) 09-10, (ppoo—— !
322. The major source of air pollution vary from city to city. [ (E1) 17.3g)

D Ang:p
B C ' ] g 2
s :ﬂm Sources a4 1 I, verb (vary) fo plural w13 subject & plural 27

i f an emergepoc—

. ubstitute for other actor in case of geney

323. An understudy is an actor LV_hBO_c‘.‘_'.‘. s o D E (U ) 08-)(()9
A \

. e }
ther 9% 3T another & | another +singular noun ; other *plural noun; TR Ans:D
other @3 d

. . \
: ave
324. Many places of history, scientific, cultural, or scenic importance h been

C D
A B
designated national monuments. [CU (E) 08-09)
E e Ang:B
history @3 ¥t historic 2 | Parallel structure in series St 39 @t adjective 2T |
325. A t:eding animal will unusually allow competitors apprtl)aachmg only ﬂtll_(l:La
certain distance, the boundaries of which are called its feeding territory.
D E [CU (E) 08-09]Ans:B
approaching & ¥ to approach ¥d | ¥4, allow/permit +object + infinitive (to+base@
326. Carbohydrates as such sugar of starches are important energy sources for humans

A B G D
and animals. [CU (E) 08-09] Ans:A
E

as such 93 ¥ such as X | EArzaerTwet A1 74 90 such as TIR© 2T |
327. On nights when is the sky clear and the air calm, the earth’s surface

rapidly
A B C D
radiates heat into the atmosphere (So6-7-fFr) . [CU (E) 08-09]
E Ans:A
is the sky @3 37 the sky is ¥ | ¥R, when +subject+ verb +o---——--.__._.
328. A basic knowledge of social studies, such as history and geography, are considered
A B C D
a basic part of the education of every child. [CU (E) 08-09]
_ E Ans:D
are 9% ZLT is TR | QYT Subject 2% A basic knowle

dge @1 preposition @ 4t Subject |
Pitersen’s TOEFL s R (18T TAR]
depend on it as g source of food, recreation

ST verb 97 form 6T A | (S So f5 oy
329. Many people who live near the ocean

A B C D
and to have economic opportunities, [CU (E) 08-09]
E Ans:E
| and @7 774 noun e f4T and @4 *t6 noun 277 | A9, and &7 9t @R 17 swETery parts of speech SG1 |
330. The judge of the district court was not accepted by the plaintiff who went to the
A B C
High Court for appeal, [RU (Law) 11-12]
Jjudge @3 '?(CaljudgementDtca | 1, v (jud e) 7T T Fvitay i CNAH‘IIZIS:A
T (plainify) Wﬂw@mw&mﬁm. 8€) T T fwteaw 7y (udgement) ce =t J
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/
—— their TV.
hile th ir friends use
331 WA ¢ they W(;Bre away for vacations, they allowed thé: D (RU05-06] Ans:D

use 9% T to use &I 1 I, allow +object+ infinitive (to +verb a7 base form) e
s:
732. The group have not returned from the trip yet. No error
A B C D —
(RU (D-afams) 11412, na_vlg_lidesh Shilpo Bank Recruitm
have 93 T has T | The group wwe siﬁgular;ﬁl;jvcé‘t fawt verb 15 singular 224 |
333. The police are responsible for the force of the law. [RU (B-Law) ”'!12)]
A_B C D AR
force @3 ¥ enforcement T 1 19, force — *f@erats; enforcement - FFaHact, A
334. George is not enough intelligent to pass this economics class without help. [CUC 08-09]
A B C D E Ans:A

7 o At |

intelligent enough I | T, enough &A% noun @7 44 58 adjective/adverb 9
335. My cousin composes not only the music, but also sings the songs for the major
A B C D E
Broadway musicals. [CU (C) 08-09] Ans:A
\ composes not only_@% ¥ not only composes 2a | F19, Not only....but also 4@ To7 A
swerery parts of speech 7| CLIFF TOEFL PRACTICE TEST 6 Part B Question no.35 Page no.478

336. The boy stopped crving when he realized his parent will arrive shortly.  [RU08-09]
A B C D Ans:D

i 5 fe<we would T | Ffwl, principal clause (he realized) past tense q oz 4E
subordinate clause &€ past tense @ T |
[RU (BBA) 08-09]

337. This building is an oldest building in the town.
A B C Ans:B

an @7 “7ATE the T | ¥4, superlative degree @3 < the 37 |

338. Identify the incorrect word/phrase: Nobody knew who he is. [RU (B, 31fr=) 18-19]
a b cd Ans:d

2= | %7, AN main clause G past tense subordinate clause 0@ past tense T |

’ I thought he loved me. (loves =7) He said (that) his name was Asfaq. (is 79)
339. I feel sick. I wish I have not eaten so much cake. [RU (B, 3fsn) 18-19]
A B C D Ans:C
had not eaten 2@ | @1, wrere Afafzfe fava ACFA (regret) T wish + past perfect 27|
I wish (that) I had washed the clothes yesterday. I wish I hadn’t spent too much money

340. In spite of it rained a lot, we enjoyed our holiday. [RU (B, 3fes) 18-19]
a b c d Ans:a

Although/Though 22a | #14, Although/Though + clause (subject + finite verb) ; In spite of/

Despite + noun phrase 3 In spite of his being rich/Although he is rich, he lives a happy life.
341. Which one is not correct? Paris had been well known about its famous monuments

W&’ as

and wonderful restaurants for over one hundred years. [RU 07-08]
a) had been b) known about ¢) its d) for over Ans-b

a4 known about @@ #f@até known for & | I, gt it well known for I9%® = |
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e changed to mm |
Identify the one underlined word or phrase that must b enten%
correct.

( 11
ives a welc 2
. 's bazaar is open, warm and (b) g Dime feelin |
342. The atmosphere in (a) Cox’s to visit there.
to all (c) whio have fhe (Wd) s f(l)rtm;::g:ﬁ: e, and 97 4E 1303 adjectiyg
: m "y
i clcome feeling @3 #AFATe welco i ;
g“:s aﬁmwdc djective ﬁﬂgﬁ | Source: CLIFF TOEFL MINI TEST 4 Part B Question no.22 Page
and Q¥ ARS8 ad, § :

ssed (c) the possjh:

343. (a) When you come after class this afternoon, we (b) discu (¢) the possip;
B our writing a research paper. ' ' . .

di - 310::: :f;i:;;ﬁill discuss #7a | ¥, When +present indefinite, future indefinjte
iscussed 9 fs | . |

Source: CLIFF TOEFL MINI TEST 4 Part B Question no.31 Page no.236 (4t¥ 238 - TTZ

344. The professor [JnU (B) 12-13, Sreri& 3 Searet tes/arana (TMeizurs).

Alls:b
Ay
0.235
lity o
Ans:b

%]
a) is thinking b) to go the conference «¢) on history in Kolkata d) next month Angy,

| st & thi %S 2 |
to go 9 A of going TI | T, (P R 9 think of T
. . ” -13]
Choose the underlined incorrect word/phrase. . o zﬁm.
ertain sit
345. As the times (A) change, so does (B) the rules of (C) conduct in ¢ uations

(D) Ans:B
does 93 = do T@ | T, the rules TR plural subject 4 so @¥ #ita plural verb (do) =717

Find out an incorrect word or phrase. [ o @ fAfes <7 i Wa‘ﬂf—ab—]
346. In Bangladesh, there are much holidays thrOUghgqt the year. [BUET 10-11;
a) There b) Much ¢) Throughout d) The Ansb
Much @3 #if%=t€ many %7« | =, plural noun 97 *td much 3 IGT many 67 |
347. Tomatoes grows all year long in China. [BUET 10-11]
a) Tomatoes b) All ¢) Grows d) In Ans:c
grows @3 *If¥aCe grow A | I, Subject & plural noun =t verb @3 1w s 41 e & T ﬂ

PTIRETS Plural Noun @9 12 s 9t es 3 73 g singular verb @3 1t s 3T e TEF

348. You are the man who have always troubled me. (9% 5oy s N FETR)
a) The b) Man ¢) Have d) Me Ans:c
have @3 7R=TE has 997 | A,

relative pronoun (who) @3+t subject WP verb 307
349. A selection of Nazrul’s poems have been published to the joy of the readers.

a) Selection b) Have been published ¢) To d) Readers  Ansib
has been published z7 | 199, Head word (selection) ztez singular 1% singular verb 29 | J
350. He was so angry that he made me to leave the classroom.

a) So b) That ¢) Made d) To leave Ans:d
to leave @7 #faare leaye 2 | @199, make (causative verb) + object + verb (base form) J
351. The committee js comprised of nij

ne members all of whom were present at the meeting.
a) Committee b

) Is comprised of ¢) Whom gy A Ans:b
Is comprised of @ fape comprises 29 | j
Select the underlineq word or phrase

that is incorrect,

[Janata Bank-12, DU (D) 12-13]
d) were Ans:c
9 94 possessive case T
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days scuba diving.
we plan to spend three days o fficer)-12, DU (©) 12-13]

353. When our vacation, divin
[Janata Bank (Executive ;
b) plan o) days Miying Ans:a
ng T 1 3, When + clause @8 during —L;ﬂﬁe_lsc

354, The majority to the news is ;ﬁoinvlolencc orqcaﬁaal (Janata Bank (Executive Officer)-12,

ﬁ%emwwmmm o e wgrn-s3, 1U (LaW) 11-12, bU(D) 12-13)
a) The b) to gnews ) ﬂﬂgﬂgcﬂ__” Ans:b

to @7 “ff&re of T Wﬁ4ﬁ'-4-ii66{1?'6f301:t1 -

355, 1had a cnjoyable time at mm last night. [Janata pank-12, DU (D) 12-13]
a) a b) time ¢) at \ Ans:a

e, wrte vowel Tt =rva ek an T
ftware business in a few years.
[Janata Bank (

a) intends b) starting ¢) software d) few

starting @« sifgare start 29| zad, intend+to + verb (base form)
se that must be changed in 0

356. Kabita intends to starting her own S0

Executive Officer)-12, puU (D) 12-13]
Ans:b

rder for the sentence
(DU (D) 10-11]
gas one for so long.
Ans:b

Jdentify the underlined word or phra

to be correct.
357. Sitara is finally used to cook on an electric stove after having a

a) finally b) cook ¢) after having d) one
[ @1 cook ¥ afaate cooking T | FE, be/get used to (F¥7%) + gerund (
358. Professor Chowdhury teaches both anthropology as well as sociology eac
a) teaches b) both ¢) anthropology d) each fall
~e<1 both % T | both - and (co-relative) g as well as @3 ALY both &3 4T 2 |
359. Noise pollution can be controlled in 2 number of way. [JnU () 16-17]
A B [ D Ans:D
| way 9F s{fRTE ways
360. Find out the error in the following sentence:

They asked me what I have taken for breakfast.
a) asked b) what ¢) have taken d) for Ans:C
" have taken 4% afzare had taken 2091 w1ad i@ principal clause & past tense @ SR IERIE

 what @7 #t@ sub-ordinate clause G past tense 24|

Find the incorrect part. [RU (D) 14-15]
361. a) We could not make any decision b) because a few ¢) of the members d) was ra'isinfJ
A e o

their disapprovals. (was 49 aifaqré were T | B, a few + plural verb)Ans:d

h fall.
Ans:b

Z7@ | F17, a number of a7 plural noun 7 |

[ ReTeT TS ST Ffyaia-5]

362. a) Mr. Haque is known b) as the most ¢) benevolence person d) among his collegues. .

l benevolence 44 Afaar€ benevolent 7@ | 13, the most g 4@ adjective 0T | Ans:c

363. a) The faculty Dean never b) has and ever will take ¢) such d) strong measures Ans:b

has and ever will takerz‘%rﬂﬁ»a—i\‘g has a@h—aﬁa will ever take T |

364. a)ldon't mind b) to help ELvXQJngokinlg, d) but I am going to wash dishes Ans:b
to help 49 Afaars helping 204 | #1ad, mind +gerund (verb+ing) : :
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365. @) The farmers tried b) to rise ¢) organic vegetables, ) but heavy rain anm

destroyed all. 7 FiseFpreposIoNaTy Angy
(mc «3 -ﬁé{mf; raise (SLIMR ) WA B, raise +noun/pronoun, l/ady

0/()
RS A SRR et ieve d) none any m

66, a) Shc?iiﬁ"éréd so much b) that shcwwg%r m)none u:‘u»'.ynl :;' ,Aﬂs:d
l none €7 Sfeate anyone T2 1 #174, double negative w - m

i s i i

¢) the restaurants in this country

367. n) As the result of b) regularly inspcclifms,
d) have improved their sanitafion practices.
[regnlnﬂv «@ =ears regular €4 | noun & modify F40S n

oun a7 7t% adjective 967 |

DrrrrgF BN gy -
Choose the incorrect underlined word m; phrase'. 51 me offering m :: :1 22;11:;) 16-13)
368, 1 will (A) always (B) remember you (C) standing by (D) : R Meng.
| vou €% 7 yvour €@ | TR, remember + (my, your, his, her, their) +gerun ng) Angf;C
l?.hq The rc:s;son for (A) my prolonged absence (B) from class, was (C) because (D) T was jjf
o for three weeks. [NSTU (B) 12-13, RU (D, =iféray) 16-17)

because @7 ¥ that 202 | #179, 317 reason (F139) a3z because A+ WNW I Ans:D
270. If anyone cares to join (A) me in the campaign, either (B) now or In the near future,

they (C) will be welcomed (D) gratefully.

J‘ mc.\'zj"(ﬁ he =@ | ¥=¢, anyone ﬂﬁsingularm'\ﬂi pronoun & he 224 | Ans:C
i371 . By the time (A) we arrive (B) in Italy, we have (C) traveled through (D) four countries.
- will have traveled 2= | ¥1@, By the time+present indefinite, future perfect tense Ans:C

Find the incorrect part of the sentence. [RU (D, aifre7) 15-16]
372. a) The Allegheny b) Mountain range ¢) are rich d) in coal. (1s *F) Ans:c
373. a) Technology must b) use to feed ¢) the forces d) of change. (be used =F)Ans:b
374. a) Have done my best, I sat b) down c) to see d) the results. (Having ¥9)Ans:a

375. a) The body of b) the jellyfish looks c) like it a bell d) or an umbrella. (it J FM)Ans:c

376. Floriculture is the art, a) scientist, and b) business of ¢) growing d) ornamental plants.
Ans:a 1 scientist <% #fATE science T | ¥, parallelism AT RS2 R S0 1 |

377. &) During inflation, per capita income b) rises ¢) as faster than d) real per capita output.
ADSIC ; as @F WEETE (% | 9189, as/so +positive degree + as

or, comparative degree + than J
378. a) Politics b) are not ¢) meant d) for students. (is @) Ans:b

Politics @7 4t# possessive adjective 4ree plural verb 2e3 1 His politics are extreme. J

ldgntify t hf incorrect underlined part of the sentence. [Frerd 3 Sxuw areE (FererREE)-¢]

379. Dwﬂﬂ"_’%‘{@” at the university (C), and so does Jim (D) Ans:D

v does Jim ¥ s0 is Jim &0 | iy W&‘Aﬁiaative/Negative Agreement S (Y | j

380. We must insist on {;03 leaving the meeting before any further outbursts take place.
B

[T S e (cq

_9_(_"‘ — yo\ur = k. | (RI) de, Bl Fyice fr, (reerd Gaf s, F)-3q)  Ans:A
_ Preposition «ge gerund «@g s possessive adjective 307 |

381, Not one of the children

. has ever sang in public before, (e $f¥ . e (Fiferra wiF)-3¢] 1
Y B C :
MASTER 2 e m&% J
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